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Full marks : 40
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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions/Fill in the
blanks : 1x7=7

S SPTRA TR fiar/ 0 1Y o 0

(a) What is the main role of photosystem-II ?
5811 T 0 i R 2

(b) Cell sap is __ .
R (AR [

(c) How many different types of amino acid
constitute proteins in plants?

Tere @ Rfse o’ afSss wmr oo s
;?
(d) Phytohormones are .
FRANTRR R |
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(2)

(¢) What is turgor pressure?

e w1 2
() Photorespiration is also known as
TS fere &= TN |

(g Which mineral element is commonly
present in ‘cytochrome’ and ferredoxin™?

SR GF @FESHAS AYEATS:  FARY
Mg SRfES R W 2

2. Answer the following questions : 2x4=8
wore i PP T i -

(@) What are polysaccharides? Name two
" main polysaccharides found in plants.

TR 7 SR (RT Agm IRy TR
1 o 1

(b) Distinguish between osmotic pressure
and turgor pressure.

WS 1o S =S B1eR A1 o |

(c) In which part of the chloroplast, light
reaction of photosynthesis takes place?
What are the products of light reaction of
photosynthesis?

F'A YR (@O LTS ARG HLAE
fRiftrn wafe =2 S R e & &
e =, fordt |
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(d)

(3)

Distinguish between transpiration and
guttation.

g o1F 37 T e o |

3. Answer any three of the following questions :

3x3=9

o o PTPRA o1 R e oo Tew fa -

(a)

(b)

(c)
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What are antitranspirants? Give some
examples of it. _ 2+1=3

ﬁf&ﬁwﬁ?m WWq
ﬁ?ﬂl

What is nastic movement? Name three
different nastic movements with examples.
1+2=3

e oo 2 SRR o Ry iR
o N

In which form mineral salts are absorbed
by plant? What do you mean by active
and passive salt absorptions? Name two
possible mechanisms of salt absorption
based on ‘carrier concept’. 1+1+1=3

R B For If® R T I 2 HET e
fafin e o & W7 AT (RN SRS
Rfs 71 4w T CTRR T {4 FACIER
TCEY 90|
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(4)

(d) What are alkaloids? Mention the
functions of alkaloid. . 1+2=3

GG & 7 G IO ToHy 341 |

(e} Write about the practical application of
vernalization. 3

IFRFIR IRE 2T 77w o o

4. What do you mean by CAM? How does the
metabolism take place in the succulent plants?
Narrate the significance of CAM. 2+4+2=8

CAM Ifed & @? ¥ Tega IR R
TR W ? CAMA SIeoff Sgca o |

Or / 911
What is auxin? Give its physiological roles in
higher plangs. 2+6=8
wfd &7 T® M St TR RRE gReRnz
foram 1

5. What are different sources of nitrogen
for higher plants? Write briefly about the

biological nitrogen fixation. 2+6=8
T 354 TR 03 7RG o RfSw Seopmz & &9
et =G v RfSead syem vyte foran

Or / Q[T

Write about the chemical structure of enzymes.
Discuss the mechanism of enzyme action. 3+5=8

T WA e I B 1 Seomer I
e AT 47 |
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